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\4/) Rk 2943 A 156 H~ | Frk 2946 A 21 H~ | FEak 2949 H 21 A~ |FEpk 294 12 A 21 H~
- HiLE 4, FR 2946 A 200 | FRK2949H 208 | PR 294E 12 A 20 A | K304 3H 13 B
& (98 A FEFE) (92 H FEFE) (91 A FEFLfE) (83 H FHFE)

L | #HAGET AR R = 0.15 = 0.14 - 0. 14 - 0.12
2 b AR = 0.17 - 0.16 - 0.16 - 0.14
3 ¥ AR - 0.15 - 0.14 - 0.14 - 0.13
4 e I = 0.15 = 0.14 = 0.14 = 0.12
17 R = 0.17 = 0.16 = 0.16 = 0.14
18 = = 0.16 - 0.15 - 0.15 - 0.13
19 2R 0.16 0.17 0.16 0.16 0.15 0.15 0.14 0.14
21 o RN = 0.16 = 0.15 = 0.15 = 0.13
22 o = 0.18 - 0.17 - 0.17 - 0.15
23 EEEENE=y: 0.16 0.16 0.15 0.15 0.15 0.15 0.13 0.13
24 TEAAR - 0.16 - 0.15 - 0.15 - 0.13
25 Ko 4 = 0.16 = 0.15 = 0.15 = 0.13
26 o = 0.15 = 0.14 = 0.14 = 0.12
27 YE IR H = 0.16 - 0.15 - 0.15 - 0.13
28 Y= Li] - 0.16 - 0.15 - 0.15 - 0.13
29 Al = 0.15 = 0.15 = 0.14 = 0.13
30 % B = 0.15 = 0.15 = 0.14 = 0.12
31 VAR - 0.15 - 0.14 - 0.14 - 0.12
32 U SR ALVER LS - 0.15 - 0.15 - 0.14 - 0.13
33 [y y=¢ = 0.16 = 0.15 = 0.15 = 0.13
34 B o i 0.15 0.15 0.14 0.14 0.14 0.14 0.13 0.12
35 HoOHT 0.17 0.17 0.17 0.16 0.16 0.16 0.15 0.14
36 B WS RAE = 0.16 - 0.15 - 0.15 - 0.13
58 %6 4y 0.16 0.16 0.15 0.16 0.15 0.15 0.14 0.13
38 LK - 0.14 - 0.14 - 0.14 - 0.12
39 k7 SR = 0.15 = 0.15 - 0.15 - 0.13
40 CYRLLEL] = 0.14 - 0.14 - 0.13 - 0.12
41 A = 0.16 - 0.15 - 0.15 - 0.13
42 M =4 H 0.16 0.16 0.15 0.15 0.15 0.15 0.14 0.13
43 R = 0.19 = 0.18 = 0.17 = 0.15
44 H W 0. 14 0.14 = 0.13 = 0.12
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WCHES T 2N E T
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8 H 5 4, Pk 20F6 H 20 0 | ER 299 H 20 0 | Pk 20412 420 A | FR3043 A 13 H
=& (98 H 5 fiE) (92 FFE5E i) (91 HFE5 i) (83 HFE5fiE)
A5 [RR T S 5 = 0.15 = 0.15 = 0.14 - 0.13
46 o 0.16 0.16 0.15 0.15 0.14 0.15 0.13 0.13
47 AT N BB 0.15 0.16 0.15 0.15 0.14 0.14 0.13 0.13
48 FEW N - 0.16 - 0.15 - 0.15 - 0.13
49 PR RAE 0.15 0.15 0.14 0.15 0.14 0.14 0.13 0.13
5 & 15 0.15 0.15 0.14 0.14 0.14 0.14 0.12 0.12
6 oo = 0.15 - 0.14 - 0.14 - 0.13
7 H 3PN 2 = 0.16 - 0.15 - 0.15 - 0.13
8 TR 0.15 0.16 0.15 0.15 0.14 0.15 0.13 0.13
9 =R = 0.14 - 0.13 - 0.13 - 0.11
10 =R - 0.16 - 0.15 - 0.15 - 0.13
11 W 0.16 0.16 0.15 0.15 0.15 0.15 0.13 0.13
12 m R = 0.14 = 0.13 = 0.13 - 0.12
L3z Jiiti 3 B 587 0.14 0. 14 0.13 0.13 0.13 0.13 0.12 0.12
14 HiBEH 5 R H = 0.14 = 0.14 = 0.13 = 0.12
15 MR 5 /N 0.16 0.16 0.15 0.15 0.15 0.15 0.13 0.13
16 IFH5E 7 2 = 0.16 = 0.16 = 0.15 - 0.14
20 & = 0.17 = 0.16 - 0.15 - 0.14
50 wILRE = 0.16 - 0.15 - 0.15 - 0.13
51 REHMARE 0.16 0.15 0.15 0.15 0.14 0.14 0.13 0.13
52 AR T4 0.16 0.16 0.15 0.15 0.15 0.15 0.13 0.13
53| #MIT  TFiR/ANERR 0.17 0.17 0.16 0.16 0.15 0.15 0.14 0.14
54 KA = 0.16 - 0.15 - 0.15 - 0.13
55| )11 EEILEEIERT 0.15 0.15 0.14 0.14 0.14 0.14 0.13 0.13
56 AGEEEST - 0.16 - 0.15 - 0.15 - 0.13
57 RN - 0.16 - 0.15 - 0.14 - 0.13
% | FHME P 0.14 0.14 0.13 0.13 0.13 0.13 0.12 0.12
E WEETT AT 0.13 0.13 0.12 0.12 0.12 0.12 0.11 0.11
A | BT bR 0.18 0.18 0. 17 0.17 0.16 0.17 0.15 0.15
WAAT Ul 0.14 0.14 0.13 0.13 0.13 0.13 0.12 0.12
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